
Anv bihan: ..........…...................... Deiziad : .…….................................................................

5 x 10 = 10 x 5 = ……

5 x …… = 100
5 x …… = 250

5 x ……… = 500

12 x 10 = 10 x 12 =  ……

15 x 10 =  ………

10 x 23 =  ………

54 x 10 =  ………

• Sell mat ar skouer ha jed :
27 x 6 = (20 + 7) x 6
27 x 6 = (20 x 6) + (7 x 6)
27 x 6 = 120 + 42
27 x 6 = 162

27


x 20 7

6 120 42
= 162

14 x 5 = (…… + ……) x 5
14 x 5 = (…… x 5) + (…… x 5)
14 x 5 = …… + ……

14 x 5 = ……

14


x …… ……

5 …… ……

= ……

3 x 58 = 3 x (…… + ……)
3 x 58 = (3 x ……) + (3 x ……)
3 x 58 = ……… + ……

3 x 58 = ………

58


x …… ……

3 ……… ……

= ………

21 x 7 = (…… + ……) x ……

21 x 7 = (…… x ……) + (…… x ……)
21 x 7 = ……… + ……

21 x 7 = ………

21


x …… ……

7 ……… ……

= ………

4 x 19 = ………………………………………….…

4 x 19 = ………………………………………….…

4 x 19 = …………………….…

4 x 19 = …………

………


x …… ……

……… …… ……

= …………

• Jed :
4 0
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......……….

2 0
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